SoLUTION

ALATH 32— 172 HomEw opka 3

@200 £00 = 3(xm) (e-0C(x-1)

[—2:"‘5—] > ﬁ(-z)-_-—q—,-_g;ﬁ(‘-s-)-;g-ﬂ"

(@)
CZ:—?.) ’D:I-S-
g0 s &
= SRS
2.

Qo !O:R:"o"z's—

F(—-'D'?-g) = o.109k Yo,

s ¢
s mhodp o e BES
2

—

Apfe-i g = S peaglgle, G GRREE

- e g-—-a O-?,S— e
}73 = : e :!_0“6%7SI

2.

Fepoz 1o 8787




Glsly (o)

@

["2")"'] a= -2 fo:—l
Biis '_‘._7;;.._._._,\.5‘ Fedrz 2 yo
'F”a):—\ Lo

Se Q':h-.--h‘;)' b=~

So b = -8 =~ 3
.Féo Fye
—

RO Be e el ) V0
__;'::): .-!i‘_...) $ » 5
Py = TSI L uads

o e e R . b3

T e e

3 i
0y = =23 =t el 4 , Tob=15"



_l‘h"s?s"-\-B')_S_o Lieli s

—
-

©

v v
)

P

= = iy Rie 023
So a:-\-m?b, i e = mleuE

f e e
@ k= :\'L'—Big"\‘w“ - - \bhu1g

2

'F(Fé)'-: o.0D6%X3 ) o

So i = h.,‘:-*\*H'LlQI) });.—..\~l4563

.F’7¢> '?Lo

i

@ ,"? 5 “’3 U‘E"M‘ “”_B'L‘._é_éf = =ohihy

T e e ——
.;‘m

Ff]’?): —~ 0. 20l 4o

So A=) Yz19 b = ~v4iul

4

+ o B ags
@ P%s ﬂihl\q-\h\/ﬂ“) = -1'Y1 8o
2: —

e o.P

p—




(&)
G5 G ing MATLAR

@ Fooe P otxwt) , ToL=12

)

-6

=0-6U12,  Fpr= -5.Lub70 xio Ltt=12

() £ = e anFrsn-2, oLt ]

e i
P: 0-7,5‘75_) 7f([>):_7,.75“¢)8 2 SN 2'&1{"=?7

' 2
{€) fi(w: 2% Gs(ay) —~(OAFD) , —3Lxk-2 , jfxke

g
For —3atwmt-2 I:¢_-a.-m:3) Fip=a-uésere L EE=1

: 1
\

B :
Bov . ~jiaadi 6 F:_ou;vqg:, F{});)-éoénio : BEr=17

2

(OU -F(Y): o o8~ L +BIH-)

- ”6 ¢
}3: SRR L DR S ML v bt

Bl . AWM o 8

~ ~ 6
P: Vo566 f-{}ﬁ);; P Yy3d0 Rl L"é-f‘:: 1%



@-v
@oq (%) Froe e'd — Gugeisa) =5

iy s oy
SR B TRl

3 —
Q:'3CZ'I) F(')O‘: N = 2o 7—;): )o-la

.?(?—): 3~-25 Lo 19(3):;7-25‘ N o
Let o £ £ 3
}Q: 2.9240

~4
-’E(P):: SR 1 e B TR A T

’”."t = 14

e S T




